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\90\'\’1&' @; M (ﬂ, Since ‘HMY oW \‘mfearly indﬂ?@mdtﬂﬂ“‘.

ui’mco the Grom- Schm db fk\@ovﬂr%m we fgfeji :

\ |
o= =70 ().
lem 11:: (J\:‘ | Kﬁ) 'S on ovHﬂonorw\l \96{9}9 5”7{- " (T>

&M l .
“) (S'ince ‘yzz "%T (2\ e a bacirvelctor, V= (Q can jurt l?{
}_7 o 3

[oX1) Q\JMM’\J( 0‘[» ' (T) iff WL:Z,)
A
Tt
‘ 2-+
-1
= Ths et s o solubion Jor +=2.

Alternative + fry Yo solue FXI=V
@(v 2| LT ') L
(5 )4) ~el3lg)~ (53

| e

Tor 427 we haw V= (2(\ and  Since V;\f@%_= ﬁ(‘z)

| O

We 9&\* [\/_h: = ({f‘) ;




lll) A e R% o fi)e (lzy . 9&0:4 19\/
gerhew(@ez (8- ()
St

iv) _ e
To Lind a xe R such - I TQ-LI minimal
ne need to solve §)
T < | P L
Kax=fb, uth A<E- (5 3)

- A

A A= (55 ”(é%) (‘ G»
e (u33) ) G
Need Yo solve (% )%= Lhé\
ﬂ([ |4 *12,) “’[;Q/(\O l? )&@([Oll% lf)
~ (lool ]ﬂl?') We ook the polalion X= (12)
12 \]T(‘})\(L:Z)]) 5 minimal




